[bookmark: _Hlk46573080]SECTION I. Based on the Fig 1, answer on the following questions.
[image: Love Valley – Seeing is Believing ~ Kuriositas]
Fig 1
1. Name the landform shown on the Fig 1. 							(1)
Tent rocks
2. Name the geomorphological process that created the landform.			(1)
differential erosion
3. List two main physiographic factors that lead to this process.				(1)
substrates made of rocks of different hardness, climat conditions (wind, water…)

SECTION II. Fig 2. shows the Earth`s tectonic plates. 
[image: ]
Fig 2.


4. Using the information from Fig 2, fill in the missing data in the table below. 		(2)
	Location:
	Plate boundary:
	Types of crust:
Oceanic/oceanic
Oceanic/continental
Continental/continental
	Subduction:
Yes/no
	Potential hazard: volcano/earthquake/ tsunami

	Kobe
	Convergent
	Oceanic/continental
	Yes
	volcano/earthquake/ tsunami

	Sichuan
	Transform
	Continental/continental
	No
	earthquake

	Iceland
	Divergent
	Oceanic/oceanic
	No
	

	Los Angeles
	Transform
	Oceanic/continental
	No
	earthquake

	Sumatra
	Convergent
	Oceanic/continental
	Yes
	volcano/earthquake/ tsunami

	Pinatubo
	convergent
	Oceanic/continental
	Yes
	volcano/earthquake/ tsunami



SECTION III. Study Fig. 3, which shows the impacts of a tsunami. 						
[image: Japan earthquake and tsunami of 2011]
Fig 3
5. Using Fig. 3only, describe two impacts of a tsunami.					(1)
damaged/destroyed coast or coastline, infrastructure, buildings, environment
6. Explain why tsunamis occur in areas such as shown in Fig. 3.				(1)
costal area, near active submarine earthquake zones or submarine volcanoes or submarine landslides.

7. Explain why tsunamis of the same intensity are likely to cause more damage in LEDCs than in MEDCs.											(1)
MED`s – more money for technology, warning systems, prediction, faster evacuation, educated people. LED`s – opposite

SECTION IV.    Observe  Fig 4, and answer the following questions.
[image: ]
Fig 4.
8. What is represented with the section A?	u-shape vally					(0,5) 
9. What is represented with the section B?	moraine					(0,5)
10. What is represented with the section C?	cirque						(0,5)
11. 
Match the feature in the box below with the correct definition.			(1,5)
Feature					Definition
Arêtes.					Bowl-shaped depressions.
Cirques.				Mounds of glacial debris.
Drumlins.				Out-of-place boulders.
Erratics.				Scratches in bedrock.
Fjords.					Shallow lakes or ponds.
Horns.					Sharp and jagged ridges.
Kames.				Sharp mountain peaks.
Striations.				Streamlined hills.
Tarns.					Steep-sided ocean inlets.

Arêtes. - Sharp and jagged ridges				
Cirques. - Bowl-shaped depressions.
Drumlins. - Streamlined hills.						
Erratics. - Out-of-place boulders.
Fjords. - Steep-sided ocean inlets.
Horns. - Sharp mountain peaks.
Kames. - Mounds of glacial debris.
Striations. - Scratches in bedrock.
	Tarns.	- Shallow lakes or ponds.
SECTION V.    Answer the questions using Fig 5.
[image: MS-ES-11-06-laws-of-stratigraphy | Earth science activities, Earth ...]
Fig 5
12. What is represented with the letter E? 	fault line or faults				(0,5) 
13. What was made first: the igneous rock D or the line E? 	the igneous rock D		(0,5) 
14. Which section is the oldest (A, B, C, or D)?		C					(0,5) 
15. Which section is the youngest (A, B, C, or D)?		A					(0,5) 

SECTION VI.    Take a look at the picture (Fig 6), and answer the questions.
[image: Upoznajte Pamukale, bele i nežne poput pamuka]
Fig 6.
16. What factors influenced the formation of the landform (Fig 6)?				(1)
limestone, released carbon dioxide, dissolved or deposited calcium carbonate
17. What type of rock made the landform shown on the Fig 6? 				(1)
travertine

SECTION VII.    Study Fig 7., a world map showing the tracks and strengths of tropical storms.	

[image: ]
Fig 7.

Complete the following sentences. 
18. The greatest number of category four tropical storms happen in the …………………………… Pacific Ocean. Apart from very strong winds, one other associated weather feature of a category four storm is heavy rain								(0,5)
19. Using the map provided, describe the global distribution of tropical storms.
between the tropics of Cancer and Capricorn, form between approximately 5° and 30° latitude											(1)

20. What is the name of the tall clouds found at the center of the tropical storm? Cumulonimbus										(0,5)
21. Give one condition that is needed for a tropical storm to form.
any of the following: key words underlined						(0,5)
· warm sea temperatures/sea temperatures in excess of 27°C (No credit for high temperatures without qualification) or
· winds near the ocean surface blowing from different directions converging or 

22. What causes tropical storms to spin?							(0,5)
the Earth`s rotation or the rotation of the Earth
23. Tornadoes most often move toward what direction? northeast or NE			(0,5)
24. Give two reasons why tropical storms eventually lose their energy.			(1)
any two:
- they pass over land which slows their movement due to friction 
- loss of energy due to cooling effect of passing over water (or land) at higher latitudes
- they move into areas of cooler water, where there is less energy.


SECTION VIII.    Study Fig 8.1. and Fig 8.2. shown below.					
[image: ]
[image: Science Source - Summer Tundra, Siberia, Russia]
Fig 8.2.
25. Which climatograph from Fig 8.1. represents the weather/climate type shown on Fig 8.2.? 2 or 2. Or number 2 										(1)
26. What is the location (include the latitude) of the biome from Fig 8.2  Alaska, Canada, Russia, Greenland, Iceland, and Scandinavia as well as sub-Antarctic islands (or in northern part of North America and Eurasia) or  between 60° and 75° of latitude				(1)

27. List three types of flora and three types of fauna that can be found in biome from Fig 8.2.
flora:mosses, lichens, sedges, shrubs
fauna: polar bear, arctic fox, wolves, caribous, penguins, snow geese and musk oxen		(1)
SECTION IX.    Using the given map below, answer the following questions.				
[image: ]
28. What season is on the Northern hemisphere? Winter					(1)
29. What weather does the Siberian anticyclone bring to South Asia? Dry weather (winter monsoon)											(1)

SECTION X .Based on the Fig 9.1.
30. Name type of soil for each picture from 1 to 4.						(1)
[image: ]
Fig 9.1.
1- laterite, 2- terra rossa, 3- loess, 4- fertile soil or chernozem
31. Link each picture from Fig 9.1. with the correct location labeled with letters from A to D (Fig 9.2.)											(1)
[image: ]
Fig 9.2.
1-B; 2-D: 3-C; 4-A
SECTION XI. Fig 10. shows population pyramids in 1950. and 2020. of three countries.	
[image: ]
32. Join the correct population pyramid from year 2020. to the country it belongs to. 	0,5)
China ____________c____, India __________a______, Nigeria_________b_________.

33. Which country (China, India or Nigeria) had the smallest change in demographic structure? 																								(0,5)
Nigeria
34. Which country (China, India or Nigeria) have the biggest change in population and list the reasons for that.		
China, China's population pyramid for 2020 looks very different from its 1950 pyramid. In general, the shape of a pyramid is a result of an interaction among fertility (birth rates), mortality (death rates), and migration (in the case of China since 1950, migration has had an insignificant effect, which is one reason why we chose this country as the “laboratory” where students learn how to read these graphs). Also, in 1979, China established a “One-Child Policy” to reduce the rate of population growth.
													(1)
35. Calculate how much the population of Nigeria increased in 2009, if it is known that the rate of natural increase was 26 ‰, and the total population were 155 million.		(1)
For 4.030.000 residents or 4.030.000


SECTION XII. Analyze Fig 11.1., population projections for each continent.
[image: C:\Users\NIKOLA\Desktop\grafik populacije.png]
Fig 11.1.
36. The orange color on the graph shows the population growth in which continent? Asia  (1)

















SECTION XIII. Study Fig. 11.2. which shows cities that are expected to have a population greater than 5 million by 2025., and answer the questions.
[image: ]
37. Fig 11.2.
38. Name a city with an expected population of 10 million or more by 2025.		(0,5)
ANSWER: Lagos, Cairo, Kinshasa
39. Arrange the following cities in rank order according to their percentage increase in population size. 	Dakar, Kinshasa, Nairobi						(0,5)
[image: ]
				ANSWER: Nairobi
					Kinshasa
					 Dakar
SECTION XIV. Solve next tasks:	
40.  If the time in Belgrade (45ᵒN 20ᵒ E) is 10 a.m., what time is in New York (41ᵒN 74ᵒW).Explain how you got the answer.									(1)
ANSWER: 4 a.m. using time zones or based on longitude
41.  The given map (Fig 12.1.) was made in scale 1:1000. Calculate the area of object X, if you know that dimensions of the object on the map are 1x1.5 cm. 																	(2)	
ANSWER: 3750m2
[image: ]

Fig 12.1.
SECTION XV. Based on the topographic map given below (Fig 12.2),answer the following questions. 
[image: ]
Fig 12.2.
42. determine the relative altitude between point A and point B. Answer: 120 m	(1)
43. Is the point A located on: the left or right bank of the river X? Answer: on the left. 	(1)
SECTION XVI.  The world map (Fig 13.) represents the share of agriculture land which is irrigated in 2015. 
[image: C:\Users\tleza\Documents\tijana\Regionalni centar za talente\2020\EGEO\6..png]
Fig 13.
What are the main physical factors that causes the high share of agriculture land which is irrigated?		dry season, drought, wet season, flood					(0,5)
SECTION XVI.  The table below shows world insecticide use in arbitrary units in 2009 and 2014.[image: ]
44. State the world region with the lowest insecticide use in 2014.				(0,5)
Africa and Middle East
45. Calculate the increase in insecticide use in Asia and Oceania from 2009 to 2014. 	(0,5)
1820
46. Suggest two reasons why some world regions use more insecticide than other world regions.											(1)
any 2:
Low income countries cannot effort the insecticide.
Overproduction is a main goal of developed regions.
 Number and diversity of insects in some regions are higher.

47. State three negative consequences of overusage of insecticide.				(1)
any 3:
killing bees, pollution of water, pollution of soil, food contamination, generation of hazardous waste (bottle and packages)
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